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1. Give the string a jerk.

(A) e b7k - (B) 7]t A

(C) IR 5 [ | (D) 7 IFFREHE I A e -
2. There is the feeling in the air that anything is possible.

(A) PR R gt = o

(B) Firf I BB (7 [V EEp 2 R

(C) ¥ 1 R i [ RE -

(D) = ['F?Ejiﬁﬂf\i_ﬁ‘ﬁ:ﬁ@ ) ﬂ%%‘@%ﬁ‘:{ﬁ&?ﬁ o

3. He slept over his book.
(A) PIE =T e (B) FIF=ZFER - ﬂj%%{ﬁﬁﬁﬁﬁ °
© f%%?}%?fﬁﬁé‘%“' ° (D) I"jﬁg’?iﬁﬂjﬂ%@ I%Elfl?{
4. It pays to work hard.
(A) BT HLBIF R 1 <
(B) oI THfl = ) -
(©) PIZpp I HEER -

(D) %3]0 [t i -
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5. [Ishall throw myself into the sea out of sheer desperation.
(A) ORI 252 v -
(B) ZSLEy* YaI[[1 » b | URLES v SELR -
(C) ZSeqaeitH i oI A -
(D) ZSfEERRS » AR aa Ll

6. The timetable says that there are no trains on Sundays.
(A) [FIATEY ~ BB T B (B) agSfIIFAE I U L -
(©) FyIFFE=E F?JF:” Al 1L o D) gﬁiﬁﬁﬁﬁﬂiﬁi WP Rl -

7. The teacher’s sarcasm was to the point.
(A) HEO- 5L - (B) it s .
(©) i SR (D) IO -

8. This film is a dramatic treatment of a threatened stoppage in a factory.
(A) *‘éﬁﬂ?&ﬁ RURIFORL- [T R SRR
B) FH AL - BB OR -

(C) ARSI % I

(D) M RIS 0 A T AL R i

9. Would he have such dirty fingers if he did not smoke?
(A) PRITRLIH il > (1. 706 2 m>%g%ﬂﬂwﬁufﬁg§§?W%%?
(C) o= BEEVRVR I it (D) PIPARE - T oMb

10. New marine life is just the sort of bait that might draw more divers here.
(A) Frae &Pl Tpljked DN E[’:Jyj[:ﬁ?gg@ .
(B) 7 [ oS » i S A i
(C) SEEAHATE 5 P [ [ e <
(D) FRYE & 2683 [P0 % T PSRN 4 -
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The clinic can offer couples an 80% chance of ensuring they will have a girl.
(A) Eﬁ?“”ﬁ%ﬁi‘ G R 1T A pﬁ CEH -

B) o T T %‘&Jﬁﬁﬁ‘ﬁ BANAAS I 25 57 - T

©) F= Fl’?ﬂul'ﬁ\%ﬂﬁﬁvej THPNES EE 25 F i o

(D) @@ il ZE P iV o A + VR -

A college student, blind in both eyes by two separate accidents, is seeing now through the
eyes of a dead marine.

(A) 5B Py L;EI]?]? éféglﬁ;;pﬁ | > ST
(B) H A= g I[ﬂ“ *;\:]; ny};F[F FlF— ol ngﬁ‘[@%[@ F'[ VHSLs I E ISP o
(C) HLABEE G 1P WH P » 58— %E_ RV P VISR > W B o
(D) NS SN giagrd P S E R ) P

He let his house for a term of years.
(A) PIRTD Y B S
(B) (41 % S2em S -
(C) 952 & PUBZRUH i Pap g o
(D) 45— \_FIJ#B;LLLI'{'[%FIN 1o

TR BRI TR T R R -
R TIMER - E 0 P TP -

(A)J ohn has studled in Taiwan for a year, and he learns a few Chinese characters.
(B) John stays in Taiwan for a year, learning a lot of Chinese characters.

(C) After studying in Taiwan for a year, John knows quite a few Chinese characters.
(D) After staying in Taiwan for a year, John knows many Chinese characters.

R A

(A) He doesn’t speak Cfantonese or Mandarin.
(B) He can’t speak Cantonese and Mandarin.
(C) He doesn’t speak Cantonese and Mandarin.
(D) He can speak either Cantonese or Mandarin.

E'Jﬂ%’ ig\,},g {ﬁ(E[fj% & o

(A) On a crowded bus, you should beware your wallet.

(B) On a crowded bus, you should take care of your wallet.
(C) On a crowded bus, you should beware of your wallet.
(D) On a crowded bus, you should be careful your wallet.

U ERI .

SRS VR ngEH‘uF‘F
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(A) I can’t forbear to laughing.
(O) I cannot refrain to laughter.

PRI 4~ BT AL -
(A)He s unbelievabfy fat.
(C) He is so fat that people cannot believe.

I,Uj;!;} 7 AVT,
(A) He chose death to disgrace.

(B) He would rather die than suffer disgrace.

(C) He would prefer death before disgrace.
(D) He would die rather than disgrace.

(B) I can’t do otherwise except to laugh.
(D) I cannot but laugh.

(B) He is too fat to believe.
(D) It 1s difficult to believe that he is too fat.
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(A) I am very painful because I didn’t pass the exam.

(B) I am in a lot of pain because I failed in the exam.

(C) I was painful because I had failed in the exam.

(D) I was in great pain because [ hadn’t succeeded to the exam.

A FURSTIRLE T 1€ % D3R -

(A) Taxi drivers never know how much they’ll earn.

(B) Taxi drivers always don’t know how much they’ll earn.

(C) A taxi driver don’t always know how much money they’ll make.
(D) A taxi driver couldn’t know how much they had earned.

T“!L..’a;} ] E\JTE[UE];E[TL_P?‘} = o

(A) That takes you only three hours takes me three days.

(B) You have to spend three hours while I have to spend three days.
(C) What takes you only three hours takes me as many days.

(D) You finish for three hours while I finish no less than three days.

i

(A) Helen comes to Taiwan ten years.

(B) Helen has come to Taiwan ten years.
(C) Helen has come to Taiwan for ten years.
(D) Helen came to Taiwan ten years ago.

AR NS e
(A) I’'ll be waiting you at exactly seven o’clock tomorrow morning.
(B) I’ll be expecting you at exactly seven o’clock tomorrow morning.

(C) I’ll be waiting on you at seven tomorrow morning on time.
(D) I’'ll be expecting at seven o’clock tomorrow morning.

SEEE RT3
(A1 reallly admire you for your blond hair.
(B) I really admire you for your gold hair.
(C) I'really envy you your blond hair.

(D) I really envy you your gold hair.
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(1) In 1988, R. J. Reynolds introduced its Joe Camel cartoon icon designed for market Camel
cigarettes. (2) Every one since Ralph Nader to the Center for Disease Control to conservative
tobacco-state legislators insists cigarette ads, especially Joe Camel, lure teens to smoking. (3)
Moreover, none mentioned the startling fact that in the four years after Joe's advent, every survey
showed teenage smoking declined -- down 19% among high school students from 1988 to 1992, twice
as fast as the drop among adults.

(4) 1t wasn't until 1993 when cigarettes ad spending fell and market analysts agreed Joe Camel was
old hat, that teenage smoking went up.

(5) Surprisingly, over the last 25 years, teen smoking and smoking initiation rates are negatively
associated with cigarette advertising and promotion spending -- i.e., the more companies spend, the less
teens smoke, and vice-versa. (6) But that fact doesn't fit the needs of the "culture war." (7) Despite
strenuous effort by officials to prove otherwise -- including one questionable study that branded nearly
all teens as smokers and denied family and peers have any influence -- they've never produced evidence
that ads make kids smoke.
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What change in the following sentence should be made?

(1) In 1988, R. J. Reynolds introduced its Joe Camel cartoon icon designed for market Camel
cigarettes.

(A) no change

(B) change "designed" to "designing"

(C) change "for" to "to"

(D) change "cigarettes" to "cigarette"

What change in the following sentence should be made?

(2) Every one since Ralph Nader to the Center for Disease Control to conservative tobacco-state

legislators insists cigarette ads, especially Joe Camel, lure teens to smoking.

(A) no change

(B) change "since" to "from"

(C) change "to the Center for Disease Control to conservative tobacco-state legislators" to "to the
Center for Disease Control including conservative tobacco-state legislators"

(D) change "teens to smoking" to "teens to smoke"

What change in the following sentence should be made?

(3) Moreover, none mentioned the startling fact that in the four years after Joe's advent, every

survey showed teenage smoking declined -- down 19% among high school students from 1988 to

1992, twice as fast as the drop among adults.

(A) no change

(B) change "Moreover" to "Yet"

(C) change "none" to "never"

(D) change "every survey showed teenage smoking declined" to "every survey has shows teenage
smoking declined"

What change in the following sentence should be made?

(4) It wasn't since 1993 when cigarettes ad spending fell and market analysts agreed Joe Camel
was old hat, that teenage smoking went up.

(A) no change (B) change "It" to "There"

(C) change "since" to "until" (D) change "agreed" to "agree"

What change in the following sentence should be made?

(5) Surprisingly, over the last 25 years, teen smoking and smoking initiation rates are negatively
associated with cigarette advertising and promotion spending -- i.e., the more companies spend,
the less teens smoke, and vice-versa.

(A) no change

(B) change "Surprisingly" to "Surprising"

(C) change "over the last 25 years" to "until the last 25 years"

(D) change "the more companies spend" to "many companies spend"

What change in the following sentence should be made?

(6) But that factual doesn't fit the needs of the "culture war."

(A) no change (B) change "But" to "Therefore"

(C) change "factual" to "fact" (D) change "the needs of" to "a need of"

What change in the following sentence should be made?

(7) Despite strenuous effort by officials to prove otherwise -- including one questionable study
that branded nearly all teens as smokers and denied family and peers have any influence -
they've never produced evidence that ads make kids smoke.

(A) no change

(B) change "Despite" to "In order to"

(C) change "including one questionable study" to "including questionable study"

(D) change "they've" to "their"
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But there is life here.

(1) Professor Harold Jordahl and I fished his farm the other day up in Richland County. (2) It's not
really good farming country, the land is steep; not mountains, but foothills. (3) The hills huddle over
the little valleys, high and proud as elephant rumps. The lower slopes have been row-cropped and
badly used for almost one hundred years until now the face of the old land looks like the face of an old
woman, tired and seamed and sucked of life. (4) Nature is working quietly to revive this place, and
because of my professor-friend and his smarts, Nature's work is a little easier now than it used to be
here.

(A) insert the sentence before (1) (B) insert the sentence before (2)

(C) insert the sentence before (3) (D) insert the sentence before (4)

34. Twenty, thirty feet and more below the carpet, the alfalfa roots burrow, spread and search for

moisture, interlace and bind the soil, give stability to the soil, and let it heal.

(1) Bud has this thing about alfalfa. "I love it," he says, "It heals the land." (2) And so everywhere
you look, except the upper hilltops and the wooded ridgelines, you're into a green carpet of alfalfa, a
green sea of alfalfa, a green world of alfalfa, stretching to the hawk-guarded horizons. (3) Bud knows
about land management and game management, maybe as much as Aldo Leopold knew, maybe more,
some say, but he downplays his knowledge and is cool. (4) "What I know," he laughs, "is that you
mustn't manage too much."

(A) insert the sentence before (1) (B) insert the sentence before (2)

(C) insert the sentence before (3) (D) insert the sentence before (4)

35. Philosophers of government ever since Plato have devoted their thinking to the major issues of

36.

37.

ethics, sovereignty, the social contract, the rights of man, the corruption of power, the balance
between freedom and order.

(1) Few-- except Machiavelli, who was concerned with government as it is, not as it should
be--bothered with mere folly, although this has been a chronic and pervasive problem. (2) "Know,
my son," said a dying Swedish statesman in the seventh century, "with how little wisdom the world is
governed." (3) More recently, Woodrow Wilson warned, "In public affairs, stupidity is more
dangerous than knavery." (4) Stupidity is not related to type of regime; monarchy, oligarchy, and
democracy produce it equally.

(A) insert the sentence before (1) (B) insert the sentence before (2)

(C) insert the sentence before (3) (D) insert the sentence before (4)

Every human society, from the most technologically advanced to the most primitive, employs
language.

(1) The use of language as a means of communication has often been seen as one trait that makes us
uniquely human. (2) These languages range from the guttural articulations of German and English to
the intoned and highly inflected Chinese-based languages to the whistle and click languages used by
certain African tribes.  (3) Regardless of the variety of human languages, all language shares certain
characteristics. (4) These include the fact that they function to socialize humans, and that they are
used as a tool to shape and change the world around us.

(A) insert the sentence before (1) (B) insert the sentence before (2)

(C) insert the sentence before (3) (D) insert the sentence before (4)

This shaping or molding of the self by the language is not limited to childhood.

(1) Although born without a language, every normal and healthy human infant has an innate capacity
to learn any of the languages spoken by human societies. (2) The infant experiences the language of
its society as an environment. (3) The particular language environment of that society shapes and
molds the personas of the child as it develops. (4) The shaping and molding continues and affects
each of us to the end of our lives.

(A) insert the sentence before (1) (B) insert the sentence before (2)

(C) insert the sentence before (3) (D) insert the sentence before (4)
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After the rulers of Malacca became Muslim in the early century, Islam slowly spread
to the general populace.

(A) fifteen (B) fiftieth (C) fifty (D) fifteenth

Seeing a play is quite different from reading it. It is an event, something you probably attend in the
company of friend. , reading a play is usually a solitary procedure, perhaps
occurring at a desk in your bedroom.

(A) In contrast (B) Still (C) Therefore (D) Even though
Women have health concerns at all stages of life. It's to know that you can rely on
us at Tounan Clinic.

(A) comfortable (B) comfort (C) uncomfortable (D) comforting

, nearly one-half rated their summer experience the same quality as that during the
regular year; one-third rated it better.

(A) A 1994 study of undergraduate students (B) In a 1994 study of undergraduate students
(C) Of a 1994 study of undergraduate students (D) At a 1994 study of undergraduate students

Which of the following sentences is a sentence fragment (not a complete sentence)?

(A) The union leader said that a strike was not likely.

(B) Visitors to Missouri discover that the summers in Missouri are as hot if not hotter than any
summers they have ever experienced before.

(C) The telephone call that woke the family.

(D) It is not a difficult part and I can teach her.

What is wrong with the following sentence?
"John Rusk's outstanding characteristic as a reporter was truth."
(A) The sentence needs a semicolon.
(B) The sentence is a fragment, an incomplete sentence.
(C) The apostrophe is used improperly.
(D) The sentence's subject and predicate do not match.

Which of the following sentences is most consistent in person and number?

(A) By the year 2008, Taiwanese will pay twice today's price for a car, and they will get twice
the value.

(B) By the year 2008, Taiwanese will pay twice today's price for a car, and you will get twice
the value.

(C) By the year 2008, Taiwanese will pay twice today's price for a car, and one will get twice
the value.

(D) None of the above sentences are consistent in person and number.

Which of the following is a passive sentence?

(A) Starting early in the elementary grades, children learn about how they perform
academically compared to their classmates.

(B) Oral Presentation is taught by Professor Barnswell.

(C) In Marathon County, the jail administers the programs but the results are the same.

(D) I flung the door open and bounded into the room, grasping an iron-gray rod as my weapon.
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46. Which of the following sentences misuses coordination?
(A) The automobile came into common use in the 1920s, and they are now indispensable for
public transportation.
(B) Modern automobiles are very complex, and they are sometimes hard to repair.
(C) The automobile replaced the horse and buggy, and made possible the growth of the suburb.
(D) The automobile was common in the 1940s, and they sometimes make costly mistakes.

47. Which of the following sentences correctly uses parallel structure?

(A) Her depression was a result of the loss of her job, the breakdown of her marriage, and a
teenage daughter who was a problem.

(B) The cars race down the track, turn the corner at great speed, and then they are heading for
the home stretch.

(C) She enjoys reading novels, studying the flute, and sewing her own clothes.

(D) The dog had to choose between jumping over the fence or he could have dug a hole
underneath it.

48. In which of the following sentences is the punctuation correct?

(A) If things go wrong, it must be a personal, human error, the result of fingering, tampering, a
button getting stuck, someone hitting the wrong key.

(B) If things go wrong it must be a personal, human error, the result of fingering, tampering, a
button getting stuck, someone hitting the wrong key.

(C) If things go wrong: it must be a personal, human error, the result of fingering, tampering, a
button getting stuck, someone hitting the wrong key.

(D) If things go wrong, it must be a personal, human error, the result of fingering, tampering, a
button getting stuck someone hitting the wrong key.

49. Which is true about the "comma, dash, and parentheses"?
(A) They are used to show that a sentence has come to an end.
(B) They can be used to show an interruption of the main idea.
(C) They must follow an independent clause and cannot follow a dependent clause.
(D) They are most commonly used between the title and subtitle of a book.

50. What punctuation should you use to join two independent clauses whose ideas and sentence structure
are related?
(A) quotation marks (B) a colon
(C) a semicolon (D) an exclamation mark
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